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1 Evolution

Consider a single qubit subjected to the evolution described by

~ 6 1

7= o)
in terms of the basis {|4+2),|—2)}. For each of the following “initial” states determine the
state after evolution.

2) |Zo) = |0).
b) o) = |1).
¢) |¥g) = % (10) + 1))

Now suppose that a qubit is subjected to the evolution described by
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in terms of the basis {|+2),|—2)}. For each of the following “initial” states determine the
state after evolution.

d) [¥g) = |0).
e) [Tg) = [1).
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2 Operator exponentiation

a) Show that 62 = I.
b) Determine a matrix expression for
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